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(1) V82 +6% + 2 = 150|282 FHE Al Fohd
64 + 36 + x2 = 225, x2 =125
~ x=5V5(" x> 0)

(2) V62 + 52 +x2 = 11°0| B2 S AlFstH
36 + 25 4 x2 = 121, x2 = 60
. x=2V15( x> 0)
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t}. o] go] B = Pajola),

= i T cm

h = V262 - 102 = 24(cm) °| 2.2,
1
(F1]) =10 x 10 x 7 x 24 ¥ o= 8007(cm?)




4. o3& 1¥°9 nABCD 94 ACLBD ¥ uf, AB 9] Zo|& stoa},




D)P=Q+R ® P=QR ® Q?+R?2=P?
@ P=2Q-R ®P=Q-R




BC = 10cm ©]1, 0ACFG = oJKEC °|E &2
OACFG = oJKEC = 25 cm? o]t}
w2bA EK x 10 = 25 ©| 22 EK = 2.5cm ©|T}.




che 137 2ol DABCD o] %
M DZIBC YOI M Ppol o=
E H=tt AD=10cm, AB =
8cm Y W, AAPR 9] Hol&?

@ 36cm? @ 38cm? )40 cm?

@ 42cm? ® 44cm?

~&B ‘

AP = 10(cm) |22 BP = 6(cm)

w2bA, PC = 4(cm) ]2 PQ =DQ = x(em) & 52 H
CQ = (8-x)cm

APQC oA x? = (8 —x)? +-4%2 0|E&2

x> =064 -16x+ x>+ 16

. x=5(cm)

AADQ @ ARCQ (AA H5)°lB=

10:CR=5:3

.. CR = 6(cm)

1
. AAPR = 3 X 10 x 8 = 40( cm?)
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@ 10mcm? @ 157mcm? @ 20mcm?

®)25rcm? ® 307mcm?

S1+S8S3=8>
S1+S2+ 83 =28,

1
52X 52 x 5= 257( cm?)




AB=5,BC=6,CA=7<%d], AABC 9
sol=avb olth. a+b o FL-& Fotofet(H,
b+ A0 AL
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72 < 52 4 62 O]E2 AABC & dZHtzrgo|rt.
A A oA BC o W@ 49 =& D 2 gt
52-x2=7"-(6-x)%. x=1

AD =26

g (501):%x6x2«/€:6«/€




10. % 3 A(-3, -5). B(a, 1) Ao]9] A2} 2 VT3 & 1], a o] S 75

AB= /(-3-a)2+(-5-1)2=2V13 o|E&
V9 + 6a + a% + 36 = 2V13

FH-S Al EoHH a? + 6a + 45 = 52
a?+6a—-7=0

(@a-1)(a+7)=0

gt g =1 FE g = -7 o|t}.




